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SN FRISTT A
M oS &
R ANFEATRE
5 - 4
SN ED B (3H) - MEAY - BAS ol &k o8 a8
O &t 2
o 14,400
307 ©I2+OI & 2,200 2,200
& 1,100
= 1,100
02 QIZ2IA AAIE E X 2,200 2,200
OXNEEANALEDN= 2,200,000& = 13| 2,200
=} 1,100
= 1,100
401 AlEHIZ 2 0HY| 5,000 5,000
01 Al& B 5,000 5,000
OXSSAHEH S3MEAIS 5,000,000& 5,000
NASAMELS =& 108,230 108, 230
201 et 9| 24,180 24,180
01 AP 2t 2| H| 24,180 24,180
Ogttf=2y| 14,000
— XNAESAL DM oI
4,000& « 1,000 4,000
— KAE2A O EE2E2 MZE
1,000 = 1,0008 1,000
—NSANES EEZ2 ME
1,000,000 = 43| 4,000
— K SAF AAX g2 3,000& * 1,000 3,000
— NEANANHE EES HE 1,000, 0008 1,000
— 0t el X sHYES 1,000,000 1,000
o2dx4 4,680
~NRSALHAANG ALY
70,000& * 23] * 12Y¥ 1,680
—Ne2SAML USTAMNB(H2,E30])
150,0002 * 2038 » H€13 3,000
oYxtz 5,500
— N3 SAH &L= Y d=2 JIGIJSANUE
NE=RIDN 1,500,000 1,500
—HAHE NIASALA HESHA BAE XA
500,000 * 4CH 2,000
—NRSA BE RAAX
500,000 * 4CH 2,000
202 o4 | 7,200 7,200
BERE 7,200 7,200
ORASMI 245 LFX
150,0008 = 4% x 12€ 7,200
203 &R =AY 450 450
I EEE T EER 450 450
OXESAISH 2tE 3| 150,000 = 33| 450
206 TH 2 HI 5,000 5,000
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-0 SHEXIE RFU 350,000& = 10& 3,500
— 0 SHEXIE SA=L| 2,000,000& 2,000
301 et A= 11,500 10,350 1,150
12 J|IEtE2 A= 11,500 10,350 1,150
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